

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 2, 2023

Progress Estimate Number	Contract ID	230120-H01	Pay Period Start	September 16, 2023	Original Contract Amount	\$16,705,000.00
10	Prime Contractor	Pace Construction Company, LLC	Pay Period End	September 30, 2023	Net Change Order Amount Current Contract Amount	(\$24,000.00) \$16,681,000.00

Approval Date		By User							
October 2, 2023		Generated and	Approved (and should be considered	d Draft) at the Project Office Level by	REEDV1				
October 2, 2023		Reviewed and Appr	roved (and should be considered Dra	aft) at the Resident Engineer Level by	dowdyd				
October 3, 2023		Reviewed and Approved at the Central Office Controllers Office Level by							
Original Comp	letion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Comple					
November 1, 2024		November 1, 2024		9.64%					

	Milestones		
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	February 8, 2023	February 8, 2023	
Letting Date	January 20, 2023	January 20, 2023	
Notice to Proceed Date	March 13, 2023	March 13, 2023	
Open to Traffic Date			
Work Began Date			

Contract Total Pay For Estimate No. 10										
		This Estimate	Previous	To Date						
230120-H01										
	Total Posted Items Pay	\$182,463.20	\$1,426,253.70	\$1,608,716.90						
	Gross Item Adjustments	(\$63,937.75)	\$136,257.25	\$72,319.50						
	Incentive	\$0.00	\$0.00	\$0.00						
	Disincentive	\$0.00	\$0.00	\$0.00						
	Liquidated Damage	\$0.00	\$0.00	\$0.00						
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00						
			\$1,562,510.95	\$1,681,036.40						
Contract Total Pa	yable This Estimate:	\$118,525.45								

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9P3650	1020	2159903	MISC.MODIFIED SHAPING SLOPES, CLASS III	LF	\$18.000	160	\$2,880.00
	1030	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	SQYD	\$10.000	669.8	\$6,698.00
	1060	4019905	MISC.OPTIONAL FULL DEPTH PAVEMENT	SQYD	\$118.000	700.4	\$82,647.20
	1140	6122030	IMPACT ATTENUATOR (RELOCATION)	EA	\$1,500.000	2	\$3,000.00
	1160	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	SQYD	\$285.000	35.1	\$10,003.50
	1190	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	LF	\$12.000	125	\$1,500.00
	1200	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	EA	\$15.000	42	\$630.00
	1310	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	LF	\$20.000	512.5	\$10,250.00
	1370	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	LF	\$3.000	1,344	\$4,032.00
	1500	6061060	MGS GUARDRAIL	LF	\$29.000	137.5	\$3,987.50
	1520	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	EA	\$4,000.000	2	\$8,000.00
	1530	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$3,200.000	2	\$6,400.00
	1590	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	SQFT	\$400.000	19	\$7,600.00
	1630	7034600	CURB BLOCKOUT	LF	\$120.000	55.5	\$6,660.00
	1640	7040104	HALF-SOLE REPAIR	SQFT	\$250.000	50	\$12,500.00
	1650	7040113	CLEANING AND EPOXY COATING	SQFT	\$15.000	853	\$12,795.00

Revision 3/23/2023 Page 1 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 2, 2023

Progress Estimate Number	Contract ID	230120-H01	Pay Period Start	September 16, 2023	Original Contract Amount	\$16,705,000.00
10	Prime Contractor	Pace Construction Company, LLC	Pay Period End		Net Change Order Amount Current Contract Amount	(\$24,000.00) \$16,681,000.00

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount		
J9P3650	1670	7101000	REINFORCING STEEL (EPOXY COATED)	LB	\$6.000	480	\$2,880.00		
Project J9P3650 - Total									
Overall - T	Overall - Total								

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3650	1030	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Overrun			-5.4	\$10.00	(\$54.00)
	1030	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			-87.412	\$10.00	(\$874.12)
	1030	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	87.412	\$10.00	\$874.12
	1060	MISC.	Overrun			-74.2	\$118.00	(\$8,755.60)
	1060	MISC.	Overrun			-75.4	\$118.00	(\$8,897.20)
	1060	MISC.	Overrun			-110.7	\$118.00	(\$13,062.60)
	1060	MISC.	Overrun			-132.3	\$118.00	(\$15,611.40)
	1060	MISC.	Overrun			-71.4	\$118.00	(\$8,425.20)
	1500	MGS GUARDRAIL	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$981.75)
	1520	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$4,400.00)
	1530	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$3,750.00)
	1670	REINFORCING STEEL (EPOXY COATED)	Material			-480	\$6.00	(\$2,880.00)
	1670	REINFORCING STEEL (EPOXY COATED)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0011) due to user reedv1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	480	\$6.00	\$2,880.00
Total								(\$63,937.75)

Revision 3/23/2023 Page 2 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information			
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work		
J9P3392	FAS S703(73)	Resurface	32	STE GENEVIEVE	from I-55 to Gerard Str	reet in Ste. Genevieve			
J9P3459	FAF 51-2(40)	Resurface	51	PERRY	from 0.4 mile south of I-55 in Perryville to Rte. 72.				
J9P3644	FAF 32-3(26)	Resurface	32	ST FRANCOIS	from Maple Valley Drive to 1.3 miles east of Rte. OO in Farmington				
J9P3650	FAF 32-3(27)	Resurface and add left turn lane	MO 32	STE GENEVIEVE	from 1.3 miles east of	Rte OO near Farmington to	0.3 miles east of I-55		
J9S3431	FAS S704(24)	Resurface C PERRY from Rte. 51 to Rte. A in Frohna.							
J9S3478	FAS S703(91)	Resurface	D	ST FRANCOIS	from Rte. Y to Rte. EE	in Farmington.			
Totals by J	Job Numbe	ers							
J9P3392					This Estimate	Previous	To Date		
		d Item Pay Item Adjustm		ltom P	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00		
			Gross	s Item Pay	\$0.00	\$0.00	\$0.00		
	Incen				\$0.00	\$0.00	\$0.00		
		centive dated Damages	s		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00		
		Contract Adju			\$0.00	\$0.00	\$0.00		
J9P3459					This Estimate	Previous	To Date		
20. 0400	Posted Item Pay Gross Item Adjustments			\$0.00	\$0.00	\$0.00			
			\$0.00	\$19,246.00	\$19,246.00				
			Gross	s Item Pay	\$0.00	\$19,246.00	\$19,246.00		
	Incen				\$0.00	\$0.00	\$0.00		
		centive			\$0.00	\$0.00	\$0.00		
		dated Damages Contract Adju			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00		
IODOO::									
J9P3644	Posto	d Item Pay			This Estimate \$0.00	Previous \$0.00	To Date \$0.00		
		น แยก Pay s Item Adjustm	ents		\$0.00 \$0.00	\$0.00	\$0.00		
				s Item Pay	\$0.00	\$0.00	\$0.00		
	Incen	tive			\$0.00	\$0.00	\$0.00		
	Disino	centive			\$0.00	\$0.00	\$0.00		
		dated Damages			\$0.00	\$0.00	\$0.00		
	Otner	Contract Adju	sunents		\$0.00	\$0.00	\$0.00		
J9P3650					This Estimate	Previous	To Date		
		d Item Pay Item Adjustm	onte		\$182,463.20 (\$63.937.75)	\$1,426,253.70 \$51,242.50	\$1,608,716.90 (\$12,695,25)		
	GIUSS	nem Aujustin		s Item Pay	(\$63,937.75) \$118,525.45	\$1,477,496.20	(\$12,695.25) \$1,596,021.65		
		tivo							
	Incen	tive centive			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00		
	Liquid	dated Damages			\$0.00	\$0.00	\$0.00		
	Other	Contract Adju	stments		\$0.00	\$0.00	\$0.00		
J9S3431					This Estimate	Previous	To Date		
		d Item Pay			\$0.00	\$0.00	\$0.00		
	Gross	Item Adjustm		s Item Pay	\$0.00 \$0.00	\$31,783.50 \$31,783.50	\$31,783.50 \$31,783.50		
			GIUSS	s nem ray					
	Incen				\$0.00	\$0.00	\$0.00		
		centive dated Damages	s		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00		
		Contract Adju		<u> </u>	\$0.00	\$0.00	\$0.00		
J9S3478					This Estimate	Previous	To Date		
2000470	Poste	d Item Pay			\$0.00	\$0.00	\$0.00		
		Item Adjustm			\$0.00	\$33,985.25	\$33,985.25		
			Gross	s Item Pay	\$0.00	\$33,985.25	\$33,985.25		
	Incen	tive			\$0.00	\$0.00	\$0.00		
	Disino	centive			\$0.00	\$0.00	\$0.00		
		dated Damages Contract Adju			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00		
	Other	Contract Adju	iounentS		φυ.υυ	φυ.υυ	φυ.υυ		

Revision 3/23/2023 Page 3 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9P3650, Item 3040506, Project Item Line Number 1030, Material Set 304050696, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	This is due to the contractor quality control not entering a sample record for a gradation test. I have contacted the inspector and he has tested the material and will have the test results entered before the next estimate. reedv1 10/02/2023	REEDV1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3650, Item 7101000, Project Item Line Number 1670, Material Set 710100096, Material 1036RSDFEC42M25 - Rein Steel EC No. 8/M25 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	This exception is due to the steel PAL not having the steel reported correctly. There is enough quantity and I am working with the contractor and materials to resolve this exception. reedv1	REEDV1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3650, Item 7101000, Project Item Line Number 1670, Material Set 710100096, Material 1036RSDFEC42M22 - Rein Steel EC No. 7/M22 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	This exception is due to the steel PAL not having the steel reported correctly. There is enough quantity and I am working with the contractor and materials to resolve this exception. reedv1	REEDV1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3650, Item 7101000, Project Item Line Number 1670, Material Set 710100096, Material 1036RSSRECAB - Epoxy Ctd Sprl Stl Rein for Anch Bolts @, Acceptance Action Generic ReinforcingMisc is insufficient.	This exception is due to the steel PAL not having the steel reported correctly. There is enough quantity and I am working with the contractor and materials to resolve this exception. reedv1	REEDV1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3650, Item 7101000, Project Item Line Number 1670, Material Set 710100096, Material 1036RSDFEC42M29 - Rein Steel EC No. 9/M29 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	This exception is due to the steel PAL not having the steel reported correctly. There is enough quantity and I am working with the contractor and materials to resolve this exception. reedv1	REEDV1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3650, Item 7101000, Project Item Line Number 1670, Material Set 710100096, Material 1036RSDFEC42M13 - Rein Steel EC No. 4/M13 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	This exception is due to the steel PAL not having the steel reported correctly. There is enough quantity and I am working with the contractor and materials to resolve this exception. reedv1	REEDV1	Overridden
Estimate Exception Type: Item Overrun: Contract 230120-H01, Contract Project J9P3650, Project Item Line Number 1030, Contract Line Item Number 1030, Item 3040506, Minor Item.	The work associated with Line 1030 will be completed before the 10/15/2023 estimate, final quantities and a change order will be in progress once final quantities are determined by final field measurement. reedv1 10/02/2023	REEDV1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 230120-H01, Contract Project J9P3650, Project Item Line Number 1060, Contract Line Item Number 1060, Item 4019905, Minor Item.	The work associated with Line 1030 will be completed before the 10/15/2023 estimate, final quantities and a change order will be in progress once final quantities are determined by final field measurement. reedv1 10/02/2023	REEDV1	Acknowledged

Revision 3/23/2023 Page 4 of 16



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved	Unit Price	Total Value POSTED To Date (See report generated date)
230120-H01	J9P3392	0001	0010	2063500	CULVERT CLEANOUT	4.00	0.00	4.00	EA	Qty 0.00	\$1,875.00	\$0.00
		0001	0020	3105002	GRAVEL (A) OR CRUSHED STONE (B)	48.00	0.00	48.00	TONS	0.00	\$120.00	\$0.00
		0001	0030	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	3,283.20	0.00	3,283.20	TONS	0.00	\$67.75	\$0.00
		0001	0040	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	9,051.80	0.00	9,051.80	TONS	0.00	\$82.75	\$0.00
		0001	0050	4079912	MISC.TACK COAT - LOW TRACKING OR NON-TRACKING	9,215.00	0.00	9,215.00	GAL	0.00	\$3.10	\$0.00
		0001	0060	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
		0001	0070	6149902	MISC.CURVED VANE GRATE, FRAME, AND MOD. COVER ON	10.00	0.00	10.00	EA	0.00	\$1,400.00	\$0.00
		0001	0080	6161005	EXISTING DROP INLETS CONSTRUCTION SIGNS	961.00	0.00	961.00	SQFT	0.00	\$5.50	\$0.00
		0001	0090	6161025	CHANNELIZER (TRIM LINE)	200.00	0.00	200.00	EA	0.00	\$15.00	\$0.00
		0001	0100	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00		\$0.00
		0001	0110	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	96.00	0.00	96.00	LF	0.00	\$20.00	\$0.00
		0001			WHITE							
		0001	0120	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	28.00	0.00	28.00	EA	0.00	\$300.00	\$0.00
		0001	0130	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	53,153.00	0.00	53,153.00	LF	0.00	\$0.20	\$0.00
		0001	0140	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	52,906.00	0.00	52,906.00	LF	0.00	\$0.25	\$0.00
		0001	0150	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	134.00	0.00	134.00	LF	0.00	\$5.00	\$0.00
		0001	0160	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$7,000.00	\$0.00
		0001	0170	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	20,628.00	0.00	20,628.00	SQYD	0.00	\$2.65	\$0.00
		0001	0180	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	3,607.00	0.00	3,607.00	SQYD	0.00	\$3.85	\$0.00
		0001	0190	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	192.40	0.00	192.40	STA	0.00	\$34.00	\$0.00
		0020	0200	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	1.00	0.00	1.00	EA	0.00	\$8,331.00	\$0.00
		0020	0210	9018611	POWER SUPPLY ASSEMBLY, TYPE 1, 240/120 VOLT SERVICE, LIGHTING AND SIGNALS	1.00	0.00	1.00	EA	0.00	\$5,900.00	\$0.00
		0030	0220	9020214	SIGNAL HEAD, TYPE 4S	2.00	0.00	2.00	EA	0.00	\$1,197.00	\$0.00
		0030	0230	9020513	SIGNAL HEAD, TYPE 3B	8.00	0.00	8.00	EA	0.00	\$1,211.00	\$0.00
		0030	0240	9020833	SH-FLAT SHEET - SIGNAL SIGN	31.00	0.00	31.00	SQFT	0.00	\$38.50	\$0.00
		0030	0250	9020834	SIGNAL SIGN, MOUNTING HARDWARE	6.00	0.00	6.00	EA	0.00	\$250.00	\$0.00
		0030	0260	9024281	CONTROLLER ASSEMBLY HOUSING, KEYBOARD ENTRY, 8 PHASE NEMA CONTROLLER	1.00	0.00	1.00	EA	0.00	\$22,077.00	\$0.00
		0030	0270	9025020	CONDUIT, 1 IN., LOOP DETECTOR WITH TRACER WIRE	32.00	0.00	32.00	LF	0.00	\$9.00	\$0.00
		0030	0280	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	150.00	0.00	150.00	LF	0.00	\$16.50	\$0.00
		0030	0290	9028208	CABLE, 8 AWG 1 CONDUCTOR, POWER	390.00	0.00	390.00	LF	0.00	\$1.45	\$0.00
		0030	0300	9028302	CABLE, 12 AWG 2 CONDUCTOR	100.00	0.00	100.00	LF	0.00	\$1.30	\$0.00
		0030	0310	9028311	CABLE, 16 AWG 7 CONDUCTOR	710.00	0.00	710.00	LF	0.00	\$1.40	\$0.00
		0030	0320	9028500	CABLE, LOOP DETECTOR, IN DUCT	3,990.00	0.00	3,990.00	LF	0.00	\$4.70	\$0.00
		0030	0330	9028811	PULL BOX, PREFORMED CLASS 2	1.00	0.00	1.00	EA	0.00	\$2,200.00	\$0.00
		9P3392 - To			Date as of Report Generated Date							\$0.00
	J9P3459	0001	0340	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$25,000.00	\$0.00
		0001	0350	2159910	MISC.SHAPING SLOPES III - MODIFIED MATERIAL REQUIREMENT	5.00	0.00	5.00	100F	0.00	\$1,400.00	\$0.00
		0001	0360	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	5,266.00	0.00	5,266.00	TONS	0.00	\$32.75	\$0.00
		0001	0370	3105002	GRAVEL (A) OR CRUSHED STONE (B)	105.00	0.00	105.00	TONS	0.00	\$18.00	\$0.00
		0001	0380	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	23,354.60	0.00	23,354.60	TONS	0.00	\$70.00	\$0.00
		0001	0390	4071005	TACK COAT	19,553.00	0.00	19,553.00	GAL	0.00	\$2.85	\$0.00
		0001	0400	4134000	BITUMINOUS FOG SEAL	9,293.00	0.00	9,293.00	GAL	0.00	\$3.40	\$0.00
		0001	0410	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
		0001	0420	6161005	CONSTRUCTION SIGNS	1,728.00	0.00	1,728.00	SQFT	0.00	\$5.50	\$0.00
		0001	0430	6161025	CHANNELIZER (TRIM LINE)	30.00	0.00	30.00	EA	0.00	\$15.00	\$0.00

Page 5 of 16 Revision 3/23/2023



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

INTERFACE_CONTRACTOR FURNISHED_CONTRACTOR RETAINED		/as Gene	erateu.		
INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED 1.00 0.00 0.00 0.450 0.011000 0.0	inge Current	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
0001 0450 6206000C 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING 168,295.00 0.0 0.0 0.0 0.470 0.20001C 4.1 V. YELLOW STANDARD WATERBORNE PAVEMENT 139,885.00 0.0	0.00 2.00	0 EA		\$2,600.00	\$0.00
PAINT, TYPE P BEADS	0.00 1.00	0 LS	0.00	\$200,000.00	\$0.00
MARKING PAINT, TYPE P BEADS	0.00 168,295.00	0 LF	0.00	\$0.12	\$0.00
SURFACING (3 N. THICK OR LESS) 0.001 0.001 0.000 0.2624010 MODIFIED COLDMILLING (DEPTH TRANSITIONS) 5.117.00 0.001 0	0.00 139,885.00	0 LF	0.00	\$0.11	\$0.00
0001 0500 6281000A BITUMINOUS SHOULDER RUMBLE STRIP 1,638.00 0.0	0.00 2,652.00	0 SQYD	0.00	\$4.20	\$0.00
0001 0510 6261001 BITUMINOUS CENTERLINE RUMBLE STRIP	0.00 5,117.00	0 SQYD	0.00	\$4.20	\$0.00
0001 0520 02599033 MISC.TRANSVERSE RUMBLE STRIP	0.00 1,638.00	0 STA	0.00	\$17.00	\$0.00
0010 0530 6061060 MGS GUARDRAIL 150.00 0.00	0.00 819.00	0 STA	0.00	\$19.00	\$0.00
D010	0.00 48.00	0 LF	0.00	\$89.00	\$0.00
CREGULAR/NO CURB	0.00 150.00	0 LF	0.00	\$30.00	\$0.00
D010	0.00 4.00	0 EA	0.00	\$4,000.00	\$0.00
J9P3644 0001 0560 2022010 REMOVAL OF IMPROVEMENTS 1.00 0.00	0.00 4.00	0 EA	0.00	3,200.00	\$0.00
0001					\$0.00
0001 0580 3040143 TYPE 1 AGGREGATE FOR BASE (4 IN. THICK) 10.00 0.00	0.00 1.00	0 LS	0.00	\$25,000.00	\$0.00
0001	0.00 2.50	0 STA	0.00	\$3,400.00	\$0.00
0001 0600 3105002 GRAVEL (A) OR CRUSHED STONE (B) 3.00 0.00	0.00 10.00	0 SQYD	0.00	\$20.00	\$0.00
0001 0610 4011207 BITUMINOUS PAVEMENT MIXTURE PG70-22, (BP-1) 12,912.40 0.0	0.00 339.00	0 SQYD	0.00	\$13.00	\$0.00
0001 0620 4011209 BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1) 2,641.50 0.0 0001 0630 4030103 ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX) 32.00 0.0 0001 0640 4030206 ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP190C MIX) 105.00 0.0 0001 0650 4030208 ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP190C MIX) 55.00 0.0 0001 0660 4079912 MISC.TACK COAT - LOW TRACKING OR NON-TRACKING 14,855.00 0.0 0001 0660 4079912 MISC.TACK COAT - LOW TRACKING OR NON-TRACKING 14,855.00 0.0 0001 0660 6123000A TRUCK COAT - LOW TRACKING OR NON-TRACKING 14,855.00 0.0 0001 0660 6132000A TRUCK COAT - LOW TRACKING OR NON-TRACKING 14,855.00 0.0 0001 0660 6132000A TRUCK COAT - LOW TRACKING OR NON-TRACKING 14,855.00 0.0 0001 0660 6131010 FURLISHING AND INSTALLATION TRACKING OR NON-TRACKING 14,00 0.0 0001 0710	0.00 3.00	0 TONS	0.00	\$180.00	\$0.00
0001 0630 4030103 ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX) 32.00 0.0 0001 0640 4030206 ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP190C MIX) 105.00 0.0 0001 0650 4030208 ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP190C MIX) 55.00 0.0 0001 0660 4079912 MISC.TACK COAT - LOW TRACKING OR NON-TRACKING 14,855.00 0.0 0001 0670 5021309 CONCRETE PAVEMENT (9 IN. NON-REINFORCED 15 FT. 23.60 0.0 0001 0680 6123000A TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) 2.00 0.0 0001 0690 6131010 FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL 96.00 0.0 0001 0700 6131012 SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR) 65.00 0.0 0001 0710 6131014 FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER 432.00 0.0 0001 0720 6131015 DOWEL BAR (FURNISHING AND INSTALLATION) 240.00 0.0 0001 0730 6131017<	0.00 12,912.40	0 TONS	0.00	\$85.50	\$0.00
0001 0640 4030206 ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP190C MIX) 105.00 0.0 0001 0650 4030208 ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP190C MIX) 55.00 0.0 0001 0660 4079912 MISC.TACK COAT - LOW TRACKING OR NON-TRACKING 14,855.00 0.0 0001 0670 5021309 CONCRETE PAVEMENT (9 IN. NON-REINFORCED 15 FT. 23.60 0.0 0001 0680 6123000A TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) 2.00 0.0 0001 0690 6131010 FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL 96.00 0.0 0001 0700 6131012 SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR) 65.00 0.0 0001 0710 6131014 FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER 432.00 0.0 0001 0720 6131015 DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) 240.00 0.0 0001 0730 6131017 DOWEL BAR (FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR 120.00 0.0 0001 0740	0.00 2,641.50	0 TONS	0.00	\$96.00	\$0.00
0001 0650 4030208 ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP190C MIX) 55.00 0.0 0001 0660 4079912 MISC.TACK COAT - LOW TRACKING OR NON-TRACKING 14,855.00 0.0 0001 0670 5021309 CONCRETE PAVEMENT (9 IN. NON-REINFORCED 15 FT. 23.60 0.0 0001 0680 6123000A TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) 2.00 0.0 0001 0690 6131010 FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL 96.00 0.0 0001 0700 6131012 SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR) 65.00 0.0 0001 0710 6131014 FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER 432.00 0.0 0001 0720 6131015 DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) 240.00 0.0 0001 0730 6131017 DOWEL BAR (FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR 120.00 0.0 0001 0740 6131018 TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR 120.00 0.0	0.00 32.00	0 TONS	0.00	\$145.00	\$0.00
0001 0660 4079912 MISC.TACK COAT - LOW TRACKING OR NON-TRACKING 14,855.00 0.0 0001 0670 5021309 CONCRETE PAVEMENT (9 IN. NON-REINFORCED 15 FT. 23.60 0.0 0001 0680 6123000A TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) 2.00 0.0 0001 0690 6131010 FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR 96.00 0.0 0001 0700 6131012 SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR) 65.00 0.0 0001 0710 6131014 FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS) 432.00 0.0 0001 0720 6131015 DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) 240.00 0.0 0001 0730 6131017 DOWEL BAR (PURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR 120.00 0.0 0001 0740 6131018 TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR 144.00 0.0 0001 0750 6161005 CONSTRUCTION SIGNS 2,134.00 <t< td=""><td>0.00 105.00</td><td>0 TONS</td><td>0.00</td><td>\$145.00</td><td>\$0.00</td></t<>	0.00 105.00	0 TONS	0.00	\$145.00	\$0.00
0001 0670 5021309 CONCRETE PAVEMENT (9 IN. NON-REINFORCED 15 FT. 23.60 0.00 0.00 0680 6123000A TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) 2.00 0.00 0.00 0690 6131010 FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL 96.00 0.00	0.00 55.00	0 TONS	0.00	\$145.00	\$0.00
JOINTS	0.00 14,855.00	0 GAL	. 0.00	3.15	\$0.00
0001 0680 6123000A TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) 2.00 0.00 0001 0690 6131010 FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR 96.00 0.0 0001 0700 6131012 SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR) 65.00 0.0 0001 0710 6131014 FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS) 432.00 0.0 0001 0720 6131015 DOWEL BAR (RRILLING, FURNISHING AND INSTALLATION) 240.00 0.0 0001 0730 6131017 DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR 120.00 0.0 0001 0740 6131018 TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS) 144.00 0.0 0001 0750 6161005 CONSTRUCTION SIGNS 2,134.00 0.0 0001 0760 6161025 CHANNELIZER (TRIM LINE) 400.00 0.0 0001 0770 6161030 TYPE III MOVEABLE BARRICADE 14.00 0.0 <t< td=""><td>0.00 23.60</td><td>0 SQYD</td><td>0.00</td><td>\$300.00</td><td>\$0.00</td></t<>	0.00 23.60	0 SQYD	0.00	\$300.00	\$0.00
DEPTH PAVEMENT REPAIR	0.00 2.00	0 EA	0.00	\$500.00	\$0.00
0001 0700 6131012 SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR) 65.00 0.0 0001 0710 6131014 FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER ADD INTERNAL SAW CUTS) 432.00 0.0 0001 0720 6131015 DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) 240.00 0.0 0001 0730 6131017 DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR 120.00 0.0 0001 0740 6131018 TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS) 144.00 0.0 0001 0750 6161005 CONSTRUCTION SIGNS 2,134.00 0.0 0001 0760 6161025 CHANNELIZER (TRIM LINE) 400.00 0.0 0001 0770 6161030 TYPE III MOVEABLE BARRICADE 14.00 0.0 0001 0780 6161040 FLASHING ARROW PANEL 2.00 0.0 0001 0790 6161098A CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR 2.00 0.0	0.00 96.00	0 SQYD	0.00	\$325.00	\$0.00
AND INTERNAL SAW CUTS) 0001 0720 6131015 DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) 240.00 0.0 FOR FULL DEPTH PAVEMENT REPAIR 0001 0730 6131017 DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR 0001 0740 6131018 TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS) 0001 0750 6161005 CONSTRUCTION SIGNS 2,134.00 0.0 0001 0760 6161025 CHANNELIZER (TRIM LINE) 400.00 0.0 0001 0770 6161030 TYPE III MOVEABLE BARRICADE 14.00 0.0 0001 0780 6161040 FLASHING ARROW PANEL 2.00 0.0 0001 0790 6161098A CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	0.00 65.00	0 SQYD	0.00	\$43.00	\$0.00
FOR FULL DEPTH PAVEMENT REPAIR	0.00 432.00	0 LF	0.00	\$12.00	\$0.00
BASKETS) FÖR FULL DEPTH PAVEMENT REPAIR	0.00 240.00	0 EA	0.00	\$15.00	\$0.00
FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	0.00 120.00	0 EA	0.00	\$15.00	\$0.00
0001 0760 6161025 CHANNELIZER (TRIM LINE) 400.00 0.0 0001 0770 6161030 TYPE III MOVEABLE BARRICADE 14.00 0.0 0001 0780 6161040 FLASHING ARROW PANEL 2.00 0.0 0001 0790 6161098A CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED 2.00 0.0	0.00 144.00	0 EA	0.00	\$15.00	\$0.00
0001 0770 6161030 TYPE III MOVEABLE BARRICADE 14.00 0.0 0001 0780 6161040 FLASHING ARROW PANEL 2.00 0.0 0001 0790 6161098A CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED 2.00 0.0	0.00 2,134.00	0 SQFT	0.00	\$5.50	\$0.00
0001 0780 6161040 FLASHING ARROW PANEL 2.00 0.0 0001 0790 6161098A CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED 2.00 0.0	0.00 400.00	0 EA	0.00	\$15.00	\$0.00
0001 0790 6161098A CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED 2.00 0.00	0.00 14.00	0 EA	0.00	\$110.00	\$0.00
INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	0.00 2.00	0 EA	0.00	\$500.00	\$0.00
	0.00 2.00	0 EA	0.00	\$2,600.00	\$0.00
	4.00 0.00	0 EA	0.00	\$2,000.00	\$0.00
0001 0810 6181000 MOBILIZATION 1.00 0.0	0.00 1.00	0 LS	0.00	\$250,000.00	\$0.00
0001 0820 6200021 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 95.00 0.00	0.00 95.00	0 EA	0.00	\$300.00	\$0.00
	0.00 4.00	0 EA	0.00	\$225.00	\$0.00
	0.00 3.00	0 EA	0.00	350.00	\$0.00

Page 6 of 16 Revision 3/23/2023



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ote: Posted Q	uantities	and Valu	es are t	pased on R	eport Generated date and can differ from the posted amo	ount at the	ume me i	Estimate wa	s Gener	aleu.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
30120-H01	J9P3644	0001	0850	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	45,490.00	0.00	45,490.00	LF	0.00	\$0.20	\$0.00
		0001	0860	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	49,473.00	0.00	49,473.00	LF	0.00	\$0.25	\$0.00
		0001	0870	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	4,868.00	0.00	4,868.00	LF	0.00	\$0.25	\$0.00
		0001	0880	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	821.00	0.00	821.00	LF	0.00	\$1.00	\$0.00
		0001	0890	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	613.00	0.00	613.00	LF	0.00	\$5.00	\$0.00
		0001	0900	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	141.00	0.00	141.00	LF	0.00	\$5.00	\$0.00
		0001	0910	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$10,000.00	\$0.00
		0001	0920	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	120,389.00	0.00	120,389.00	SQYD	0.00	\$2.55	\$0.00
		0001	0930	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	2,436.00	0.00	2,436.00	SQYD	0.00	\$6.40	\$0.00
		0001	0940	7261024	24 IN. PIPE GROUP A	8.00	0.00	8.00	LF	0.00	\$275.00	\$0.00
		0001	0950	7320624A	24 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$2,500.00	\$0.00
		0030	0960	9020514	SIGNAL HEAD, TYPE 4B	2.00	0.00	2.00	EA	0.00	\$1,420.00	\$0.00
		0030	0970	9024921	ACCESSIBLE PEDESTRIAN SIGNAL	10.00	0.00	10.00	EA	0.00	\$1,749.00	\$0.00
		0030	0980	9028311	CABLE, 16 AWG 7 CONDUCTOR	510.00	0.00	510.00	LF	0.00	\$1.40	\$0.00
		0030	0990	9028500	CABLE, LOOP DETECTOR, IN DUCT	12,000.00	0.00	12,000.00	LF	0.00	\$4.70	\$0.00
					ate as of Report Generated Date			4.00			405 100 00	\$0.00
	J9P3650	0001	1000	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$25,108.96	\$0.00
		0001	1010	2072000	LINEAR GRADING CLASS 2	29.20	0.00	29.20	STA	26.69	\$2,000.00	\$53,380.00
		0001	1020	2159903	MISC.MODIFIED SHAPING SLOPES, CLASS III	800.00	0.00	800.00	LF	160.00	\$18.00	\$2,880.00
		0001	1030	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	6,925.00	0.00	6,925.00	SQYD	6,930.40	\$10.00	\$69,304.00
		0001	1040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	298.00	0.00	298.00	TONS	298.00	\$108.00	\$32,184.00
		0001	1050	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	14,722.60	0.00	14,722.60	TONS	0.00	\$73.50	\$0.00
		0001	1060	4019905	MISC.OPTIONAL FULL DEPTH PAVEMENT	6,924.80	0.00	6,924.80	SQYD	7,388.80	\$118.00	\$871,878.40
		0001	1070	4030101	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP125C MIX) ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125C MIX)	31,309.70	0.00	31,309.70	TONS	0.00	\$81.00 \$105.00	\$0.00
		0001	1090	4030105 4039905	MISC.SYSTEM B GEOSYNTHETIC INTERLAYER (COMPOSITE	2,400.80 2,346.50	0.00	2,400.80	SQYD	0.00	\$103.00	\$0.00
		0001			PAVING FABRIC/REINFORCING GRID)							
		0001	1100	4079912	MISC.TACK COAT - LOW TRACKING OR NON -TRACKING	38,067.00	0.00	38,067.00	GAL	0.00	\$3.05	\$0.00
		0001	1110	6083003	3 IN. CONCRETE MEDIAN STRIP	522.40	0.00	522.40	SQYD	0.00	\$95.00	\$0.00
		0001	1120	6122009	IMPACT ATTENUATOR 45 MPH (SAND BARREL ARRAY)	2.00	0.00	2.00	EA	2.00	\$3,000.00	\$6,000.00
		0001	1130	6122020	REPLACEMENT SAND BARREL	5.00	0.00	2.00	EA EA	2.00	\$350.00	\$3,000.00
		0001	1150	6122030 6123000A	IMPACT ATTENUATOR (RELOCATION) TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,500.00 \$500.00	\$0.00
		0001	1160	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	176.00	0.00	176.00	SQYD	35.10	\$285.00	\$10,003.50
			1170	6131012	DEPTH PAVEMENT REPAIR SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	158.00	0.00	158.00	SQYD	0.00	\$10.00	\$0.00
		0001	1180	6131012	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK)	158.00	0.00	158.00	SQYD	0.00	\$10.00	\$0.00
		0001	1190	6131014	(PAVEMENT REPAIR) FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER	624.00	0.00	624.00	LF	125.00	\$12.00	\$1,500.00
		0001	1200	6131015	AND INTERNAL SAW CUTS) DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION)	220.00	0.00	220.00	EA	42.00	\$15.00	\$630.00
		0001	1210	6131017	FOR FULL DEPTH PAVEMENT REPAIR DOWEL BAR (FURNISHING AND INSTALLATION WITH	10.00	0.00	10.00	EA	0.00	\$15.00	\$0.00
		0001	1220	6131018	BASKETS) FOR FULL DEPTH PAVEMENT REPAIR TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR	15.00	0.00	15.00	EA	0.00	\$15.00	\$0.00
		0001	1230	6149902	FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS) MISC.CURVED VANE GRATE, FRAME, AND MODIFIED COVER	2.00	0.00	2.00	EA	0.00	\$2,500.00	\$0.00
		0001	1240	6161005	CONSTRUCTION SIGNS	2,700.00	0.00	2,700.00	SQFT	392.00	\$5.50	\$2,156.00
		0001	1250	6161008	ADVANCED WARNING RAIL SYSTEM	12.00	0.00	12.00	EA	12.00	\$60.00	\$720.00
			1260	6161025	CHANNELIZER (TRIM LINE)	300.00	0.00		EA	300.00		

Page 7 of 16 Revision 3/23/2023



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

vote: Posted Q	uantities	and value	es are c	ased on R	eport Generated date and can differ from the posted amo	ount at the	ume me	Estimate wa	s Gene	ated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230120-H01	J9P3650	0001	1270	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	4.00	\$2,600.00	\$10,400.00
		0001	1280	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	8.00	\$400.00	\$3,200.00
		0001	1290	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	-4.00	0.00	EA	0.00	\$2,000.00	\$0.00
		0001	1300	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	552.00	0.00	552.00	LF	512.50	\$35.00	\$17,937.50
		0001	1310	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	552.00	0.00	552.00	LF	512.50	\$20.00	\$10,250.00
		0001	1320	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$400,000.00	\$200,000.00
		0001	1330	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	170.00	0.00	170.00	LF	0.00	\$20.00	\$0.00
		0001	1340	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	299.00	0.00	299.00	LF	0.00	\$20.00	\$0.00
		0001	1350	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	18.00	0.00	18.00	EA	0.00	\$300.00	\$0.00
		0001	1360	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R	2.00	0.00	2.00	EA	0.00	\$1,400.00	\$0.00
		0001	1370	6205301B	CROSSING MARKER TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	2,728.00	0.00	2,728.00	LF	2,724.00	\$3.00	\$8,172.00
		0001	1380	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	2,000.00	0.00	2,000.00	LF	1,990.00	\$4.00	\$7,960.00
		0001	1390	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	72.00	0.00	72.00	LF	63.00	\$10.00	\$630.00
		0001	1400	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT	164,448.00	0.00	164,448.00	LF	0.00	\$0.20	\$0.00
		0001	1410	6205902A	MARKING PAINT, TYPE L BEADS 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING	212,289.00	0.00	212,289.00	LF	0.00	\$0.30	\$0.00
		0001	1420	6205903A	PAINT, TYPE L BEADS 6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT	776.00	0.00	776.00	LF	0.00	\$0.30	\$0.00
					MARKING PAINT, TYPE L BEADS							
		0001	1430	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	30.00	0.00	30.00	LF	0.00	\$10.00	\$0.00
		0001	1440	6207001	PAVEMENT MARKING REMOVAL	4,086.00	0.00	4,086.00	LF	362.00	\$2.00	\$724.00
		0001	1450	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$35,000.00	\$0.00
		0001	1460	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	17,973.00	0.00	17,973.00	SQYD	0.00	\$4.50	\$0.00
		0001	1470	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	10,027.00	0.00	10,027.00	SQYD	0.00	\$4.50	\$0.00
		0001	1480	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,528.20	0.00	1,528.20	STA	0.00	\$19.50	\$0.00
		0001	1490	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	1,002.30	0.00	1,002.30	STA	0.00	\$19.50	\$0.00
		0010	1500	6061060	MGS GUARDRAIL	275.00	0.00	275.00	LF	137.50	\$29.00	\$3,987.50
		0010	1510	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	700.00	0.00	700.00	LF	0.00	\$32.00	\$0.00
		0010	1520	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	8.00	0.00	8.00	EA	2.00	\$4,000.00	\$8,000.00
		0010	1530	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	10.00	0.00	10.00	EA	2.00	\$3,200.00	\$6,400.00
		0030	1540	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	1.00	0.00	1.00	EA	1.00	\$35,000.00	\$35,000.00
		0030	1550	9028500	CABLE, LOOP DETECTOR, IN DUCT	1,080.00	0.00	1,080.00	LF	0.00	\$4.70	\$0.00
		0040	1560	9031220	PIPE POSTS	570.00	0.00	570.00	LB	0.00	\$8.00	\$0.00
		0040	1570	9035004A	SH-FLAT SHEET	77.00	0.00	77.00	SQFT	0.00	\$32.00	\$0.00
		0050	1580	9105020	CONDUIT, 1 IN., LOOP DETECTOR	30.00	0.00	30.00	LF	0.00	\$46.00	\$0.00
		0070	1590	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	38.00	0.00	38.00	SQFT	38.00	\$400.00	\$15,200.00
		0070	1600	2164500	REMOVAL OF EXISTING EXPANSION JOINT & ADJACENT CONCRETE	136.00	0.00	136.00	LF	68.00	\$600.00	\$40,800.00
		0070	1610	2169903	MISC.Remove and Replace Curb and Parapet	19.00	0.00	19.00	LF	9.50	\$1,800.00	\$17,100.00
		0070	1620	7034214	CLASS B-2 CONCRETE	13.70	0.00	13.70	CUYD	7.75	\$5,500.00	\$42,625.00
		0070	1630	7034600	CURB BLOCKOUT	797.00	0.00	797.00	LF	398.50	\$120.00	\$47,820.00
		0070	1640	7040104	HALF-SOLE REPAIR	50.00	0.00	50.00	SQFT	50.00	\$250.00	\$12,500.00
		0070	1650	7040113	CLEANING AND EPOXY COATING	853.00	0.00	853.00	SQFT	853.00	\$15.00	\$12,795.00
		0070	1660	7049904	MISC.Repairing Concrete Wearing Surface	50.00	0.00	50.00	SQFT	0.00	\$250.00	\$0.00
		0070	1670	7101000	REINFORCING STEEL (EPOXY COATED)	960.00	0.00	960.00	LB	480.00	\$6.00	\$2,880.00
		0070	1680	7172001	STRIP SEAL EXPANSION JOINT SYSTEM	136.00	0.00	136.00	LF	66.00	\$700.00	\$46,200.00
	Project J	9P3650 - To	tal Value	Posted to D	ate as of Report Generated Date							\$1,608,716.90

Page 8 of 16 Revision 3/23/2023



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ote: Posted C	luantities	anu valu	Jo alc L	asca on it	eport Generated date and can differ from the posted am	ount at the			3 Oction	aleu.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
30120-H01	J9S3431	0001	1690	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$15,000.00	\$0.00
		0001	1700	2159910	MISC.SHAPING SLOPES CLASS III - MODIFIED MATERIAL REQUIREMENT	20.00	0.00	20.00	100F	0.00	\$1,800.00	\$0.00
		0001	1710	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	7,865.00	0.00	7,865.00	TONS	0.00	\$31.75	\$0.00
		0001	1720	3105002	GRAVEL (A) OR CRUSHED STONE (B)	85.00	0.00	85.00	TONS	0.00	\$18.00	\$0.00
		0001	1730	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	19,883.10	0.00	19,883.10	TONS	0.00	\$73.00	\$0.00
		0001	1740	4071005	TACK COAT	23,084.00	0.00	23,084.00	GAL	0.00	\$2.75	\$0.00
		0001	1750	4134000	BITUMINOUS FOG SEAL	13,880.00	0.00	13,880.00	GAL	0.00	\$3.35	\$0.00
		0001	1760	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
		0001	1770	6161005	CONSTRUCTION SIGNS	2,153.00	0.00	2,153.00	SQFT	0.00	\$5.50	\$0.0
		0001	1780	6161025	CHANNELIZER (TRIM LINE)	25.00	0.00	25.00	EA	0.00	\$15.00	\$0.0
		0001	1790	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	0.00	\$2,600.00	\$0.0
		0001	1800	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$200,000.00	\$0.0
		0001	1810	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	0.00	\$1,000.00	\$0.0
		0001	1820	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	250,890.00	0.00	250,890.00	LF	0.00	\$0.12	\$0.0
		0001	1830	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	207,849.00	0.00	207,849.00	LF	0.00	\$0.11	\$0.0
		0001	1840	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	5,239.00	0.00	5,239.00	SQYD	0.00	\$1.00	\$0.0
		0001	1850	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	4,823.00	0.00	4,823.00	SQYD	0.00	\$1.00	\$0.0
		0010	1860	6061060	MGS GUARDRAIL	775.00	0.00	775.00	LF	0.00	\$30.00	\$0.0
		0010	1870	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	14.00	0.00	14.00	EA	0.00	\$3,200.00	\$0.0
		0040	1880	9031270A	2 IN. PSST POST - 12 GA.	112.00	0.00	112.00	LF	0.00	\$24.00	\$0.0
		0040	1890	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	EA	0.00	\$150.00	\$0.0			
		0040	1900	9035069A	SHF-FLAT SHEET FLUORESCENT	72.00	0.00	72.00	SQFT	0.00	\$32.00	\$0.0
	Project J	9S3431 - To	tal Value	Posted to D	ate as of Report Generated Date							\$0.0
	J9S3478	0001	1910	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$10,000.00	\$0.0
		0001	1920	2159903	MISC.Modified Shaping Slopes Class III	640.00	0.00	640.00	LF	0.00	\$18.00	\$0.0
		0001	1930	3105002	GRAVEL (A) OR CRUSHED STONE (B)	1,338.00	0.00	1,338.00	TONS	0.00	\$42.50	\$0.0
									TONIO			
		0001	1940	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	15,702.10	0.00	15,702.10	TONS	0.00	\$78.50	\$0.0
		0001	1940 1950	4011211 4071005	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2) TACK COAT	15,702.10 13,580.00	0.00	15,702.10	GAL	0.00	\$78.50 \$2.85	
												\$0.0
		0001	1950	4071005	TACK COAT	13,580.00	0.00	13,580.00	GAL	0.00	\$2.85	\$0.0 \$0.0
		0001	1950 1960	4071005 6123000A	TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	13,580.00	0.00	13,580.00	GAL EA	0.00	\$2.85 \$500.00	\$0.0 \$0.0
		0001 0001 0001	1950 1960 1970	4071005 6123000A 6161005	TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS	13,580.00 2.00 1,944.00	0.00 0.00 0.00	13,580.00 2.00 1,944.00	GAL EA SQFT	0.00	\$2.85 \$500.00 \$5.50	\$0.0 \$0.0 \$0.0
		0001 0001 0001 0001	1950 1960 1970 1980	4071005 6123000A 6161005 6161025	TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE)	13,580.00 2.00 1,944.00 200.00	0.00 0.00 0.00	13,580.00 2.00 1,944.00 200.00	GAL EA SQFT EA	0.00 0.00 0.00 0.00	\$2.85 \$500.00 \$5.50 \$15.00	\$0.0 \$0.0 \$0.0 \$0.0
		0001 0001 0001 0001 0001	1950 1960 1970 1980 1990	4071005 6123000A 6161005 6161025 6161040	TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) FLASHING ARROW PANEL	13,580.00 2.00 1,944.00 200.00 2.00	0.00 0.00 0.00 0.00	13,580.00 2.00 1,944.00 200.00 2.00	GAL EA SQFT EA EA	0.00 0.00 0.00 0.00 0.00	\$2.85 \$500.00 \$5.50 \$15.00 \$500.00	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0
		0001 0001 0001 0001 0001	1950 1960 1970 1980 1990 2000	4071005 6123000A 6161005 6161025 6161040 6162004	TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) FLASHING ARROW PANEL TEMPORARY SHORT-TERM RUMBLE STRIPS	13,580.00 2.00 1,944.00 200.00 2.00 4.00	0.00 0.00 0.00 0.00 0.00	13,580.00 2.00 1,944.00 200.00 2.00 0.00	GAL EA SQFT EA EA	0.00 0.00 0.00 0.00 0.00	\$2.85 \$500.00 \$5.50 \$15.00 \$500.00	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
		0001 0001 0001 0001 0001 0001	1950 1960 1970 1980 1990 2000 2010	4071005 6123000A 6161005 6161025 6161040 6162004 6181000	TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) FLASHING ARROW PANEL TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	13,580.00 2.00 1,944.00 200.00 2.00 4.00	0.00 0.00 0.00 0.00 0.00 -4.00	13,580.00 2.00 1,944.00 200.00 2.00 0.00 1.00	GAL EA SQFT EA EA LS	0.00 0.00 0.00 0.00 0.00 0.00	\$2.85 \$500.00 \$5.50 \$15.00 \$500.00 \$2,000.00	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
		0001 0001 0001 0001 0001 0001 0001	1950 1960 1970 1980 1990 2000 2010 2020	4071005 6123000A 6161005 6161025 6161040 6162004 6181000 6200015	TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) FLASHING ARROW PANEL TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING,	13,580.00 2.00 1,944.00 200.00 2.00 4.00 1.00 64.00	0.00 0.00 0.00 0.00 0.00 -4.00 0.00	13,580.00 2.00 1,944.00 200.00 2.00 0.00 1.00 64.00	GAL EA SQFT EA EA LS LF	0.00 0.00 0.00 0.00 0.00 0.00 0.00	\$2.85 \$500.00 \$5.50 \$15.00 \$500.00 \$2,000.00 \$150,000.00	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
		0001 0001 0001 0001 0001 0001 0001 000	1950 1960 1970 1980 1990 2000 2010 2020 2030	4071005 6123000A 6161005 6161025 6161040 6162004 6181000 6200015 6200021	TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) FLASHING ARROW PANEL TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	13,580.00 2.00 1,944.00 200.00 2.00 4.00 1.00 64.00	0.00 0.00 0.00 0.00 0.00 -4.00 0.00 0.00	13,580.00 2.00 1,944.00 200.00 2.00 0.00 1.00 64.00	GAL EA SQFT EA EA LS LF EA	0.00 0.00 0.00 0.00 0.00 0.00 0.00	\$2.85 \$500.00 \$5.50 \$15.00 \$500.00 \$2,000.00 \$150,000.00 \$300.00	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
		0001 0001 0001 0001 0001 0001 0001 000	1950 1960 1970 1980 1990 2000 2010 2020 2030 2040	4071005 6123000A 6161005 6161025 6161040 6162004 6181000 6200015 6200021 6200033	TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) FLASHING ARROW PANEL TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	13,580.00 2.00 1,944.00 200.00 2.00 4.00 1.00 64.00 2.00	0.00 0.00 0.00 0.00 0.00 -4.00 0.00 0.00	13,580.00 2.00 1,944.00 200.00 2.00 0.00 1.00 64.00 1.00 2.00	GAL EA SQFT EA EA LS LF EA EA	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	\$2.85 \$500.00 \$5.50 \$15.00 \$500.00 \$2,000.00 \$150,000.00 \$300.00	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
		0001 0001 0001 0001 0001 0001 0001 000	1950 1960 1970 1980 1990 2000 2010 2020 2030 2040	4071005 6123000A 6161005 6161025 6161040 6162004 6181000 6200015 6200021 6200033 6206000C	TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) FLASHING ARROW PANEL TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	13,580.00 2.00 1,944.00 200.00 2.00 4.00 1.00 64.00 1.00 2.00	0.00 0.00 0.00 0.00 0.00 -4.00 0.00 0.00	13,580.00 2.00 1,944.00 200.00 2.00 0.00 1.00 64.00 1.00 2.00	GAL EA SQFT EA EA LS LF EA LF	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	\$2.85 \$500.00 \$5.50 \$15.00 \$500.00 \$2,000.00 \$150,000.00 \$20.00 \$300.00 \$1,000.00	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
		0001 0001 0001 0001 0001 0001 0001 000	1950 1960 1970 1980 1990 2000 2010 2020 2030 2040 2050 2060	4071005 6123000A 6161005 6161025 6161040 6162004 6181000 6200015 6200021 6200000C 6206000C	TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) FLASHING ARROW PANEL TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	13,580.00 2.00 1,944.00 200.00 2.00 4.00 1.00 64.00 2.00 133,320.00 116,542.00	0.00 0.00 0.00 0.00 0.00 -4.00 0.00 0.00	13,580.00 2.00 1,944.00 200.00 2.00 0.00 1.00 64.00 1.00 2.00 133,320.00 116,542.00	GAL EA SQFT EA EA LS LF EA EA LF EA	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	\$2.85 \$500.00 \$5.50 \$15.00 \$500.00 \$2,000.00 \$150,000.00 \$300.00 \$1,000.00 \$0.12	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
		0001 0001 0001 0001 0001 0001 0001 000	1950 1960 1970 1980 1990 2000 2010 2020 2030 2040 2050 2060	4071005 6123000A 6161005 6161025 6161040 6162004 6181000 6200015 6200021 6200033 6206000C 6221001	TACK COAT TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) CONSTRUCTION SIGNS CHANNELIZER (TRIM LINE) FLASHING ARROW PANEL TEMPORARY SHORT-TERM RUMBLE STRIPS MOBILIZATION PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	13,580.00 2.00 1,944.00 200.00 2.00 4.00 1.00 64.00 2.00 1.00 1.00 1.00 1.00 1.00 1.00 1	0.00 0.00 0.00 0.00 0.00 -4.00 0.00 0.00	13,580.00 2.00 1,944.00 200.00 2.00 0.00 1.00 64.00 2.00 116,542.00 1,728.00	GAL EA SQFT EA EA LS LF EA LF EA LF EA LF SQYD	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	\$2.85 \$500.00 \$5.50 \$15.00 \$500.00 \$2,000.00 \$150,000.00 \$300.00 \$1,000.00 \$0.12 \$0.11 \$3.90	\$0.00 \$0.00

Page 9 of 16 Revision 3/23/2023



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230120-H01	J9S3478	0010	2110	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	8.00	0.00	8.00	EA	0.00	\$4,000.00	\$0.00
		0010	2120	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	8.00	0.00	8.00	EA	0.00	\$3,200.00	\$0.00
		0040	2130	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	4.00	0.00	4.00	EA	0.00	\$400.00	\$0.00
		0040	2140	9031280	2.5 IN. PSST POST - 12 GA.	84.00	0.00	84.00	LF	0.00	\$24.00	\$0.00
		0040	2150	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	4.00	0.00	4.00	EA	0.00	\$400.00	\$0.00
		0040	2160	9035069A	SHF-FLAT SHEET FLUORESCENT	80.00	0.00	80.00	SQFT	0.00	\$36.00	\$0.00
	Project J	9S3478 - To	tal Value	Posted to D	Pate as of Report Generated Date							\$0.00
230120-H01 Ove	rall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$1,608,716.90

Revision 3/23/2023 Page 10 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9P3650

Line lumber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
1020	2159903	MISC. SHAPING SLOPES	9/21/23		80.00	LF		926+92		928+39		
				9/21/23	80.00	LF		932+44	Rt	934+39	Rt	
1030	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	9/18/23				ramp 4 shoulder	0+22		0+78		7 x 56 = 392 / 9 = 44
			9/19/23				Ramp 1 mainline					5 x 17 = 85 / 9 = 9.4 = 9
				9/29/23	66.00	SQYD	Ramp 1 mainline					20 x 27 / 2 = 270 / 9 = 30 18 x 18 = 324 / 9 = 36 36 + 30 = 66SY
			9/21/23	9/29/23	111.00	SQYD	Ramp 2 mainline driving lane	12+43		11+60		83 x 12 = 996 / 9 = 110.7
			9/22/23	9/29/23	63.00	SQYD	Ramp 2	12+43		11+96		29 x 15 = 435 / 9 = 48.3 15 x 17.5 / 2 = 131.25 / 9 = 14.6 48.3 + 14.6 = 62.9SY
				9/29/23	69.40	SQYD	Ramp 3 L					12.5 x 50 = 625 / 9 = 69.4
			9/25/23	9/29/23	81.70	SQYD	Ramp 2 triangle	12+43		13+92		12.5 x 17 / 2 = 106.3 37 x 17 = 629 106.3 + 629 = 725.3 / 9 = 81.7
			9/26/23	9/29/23	78.70	SQYD	Ramp 2 mainline					12 x 59 = 708 / 9 = 78.7
			9/27/23	9/29/23	74.00	SQYD	Ramp 2 driving lane					10.5 x 58 = 609 / 9 = 67.7
												10.5 x 11 / 2 = 57.8 / 9 = 6.4 67.7 + 6.4 = 74.1
			9/28/23	10/2/23	73.00	SQYD	Ramp 2 shoulder/driving lane					6 x 97 = 582 / 9 = 64.7 22 x 7 / 2 = 77 / 9 = 8.6 64.7 + 8.6 = 73.3SY
1060	4019905	MISC.	9/18/23	9/25/23	30.60	SQYD	Ramp 3 repair					14 x 10 = 140 / 9 = 15.6
												8 x 11 / 2 = 44 / 9 = 4.9 6 x 3.7 / 2 = 11.1 / 9 = 1.2 10 x 8 = 80 / 9 = 8.9 15.6 + 4.9 + 1.2 + 8.9 = 30.6SY
				9/25/23	43.60	SQYD	ramp 4 shoulder	0+22		0+78		7 x 56 = 392 / 9 = 43.6
			9/19/23				Ramp 1 mainline	<u> </u>		- ·		5 x 17 = 85 / 9 = 9.4
				9/29/23			Ramp 1 mainline					20 x 27 / 2 = 270 / 9 = 30 18 x 18 = 324 / 9 = 36 36 + 30 = 66
			9/21/23	9/29/23	110.70	SQYD	Ramp 2 mainline driving lane	12+43		11+60		83 x 12 = 996 / 9 = 110.7
			9/22/23	9/29/23			Ramp 2	12+43		11+96		29 x 15 = 435 / 9 = 48.3 15 x 17.5 / 2 = 131.25 / 9 = 14.6 48.3 + 14.6 = 62.9SY
				9/29/23	69.40	SQYD	Ramp 3 L					12.5 x 50 = 625 / 9 = 69.4
			9/25/23	9/29/23	81.70	SQYD	Ramp 2 triangle	12+43		13+92		12.5 x 17 / 2 = 106.3 37 x 17 = 629 106.3 + 629 = 725.3 / 9 = 81.7
			9/26/23	9/29/23	78.70	SQYD	Ramp 2 mainline					12 x 59 = 708 / 9 = 78.7
			9/27/23	9/29/23	74.10	SQYD	Ramp 2 driving lane					10.5 x 58 = 609 / 9 = 67.7 10.5 x 11 / 2 = 57.8 / 9 = 6.4 67.7 + 6.4 = 74.1
			9/28/23	10/2/23	73.30	SQYD	Ramp 2 shoulder/driving lane.					6 x 97 = 582 / 9 = 64.7 22 x 7 / 2 = 77 / 9 = 8.6 64.7 + 8.6 = 73.3SY
1140	6122030	IMPACT ATTENUATOR (RELOCATION)	9/22/23	9/29/23	1.00	EA		927+00				
				9/29/23	1.00	EA		933+50				
1160	6131010	FURN & PLACE CONC MATL FOR FULL DEPTH	9/18/23	9/25/23	8.00	SQYD	Ramp 3 Pavement repair					6 x 12 = 72 / 9 = 8
			9/20/23	9/29/23	11.10	SQYD	Ramp 3 R					8 x 12.5 = 100 / 9 = 11.1
			9/29/23	10/2/23	16.00	SQYD	West side of bridge by RT B, R side.					12 x 12 = 144 / 9 = 16
1190	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR	9/18/23	9/25/23	36.00	LF	Ramp 3 pavement repair					6 x 2 = 12 12 x 2 = 24 24 + 12 = 36
			9/20/23	9/29/23	41.00	LF	Ramp 3 R					8 + 8 + 12.5 + 12.5 = 41
			9/29/23	10/2/23	48.00	LF	West side of bridge by RT B, R side.					12 x 4 = 48
1200	6131015	DOWEL BAR (DRILLING, FURNISHING AND INST	9/18/23	9/25/23	10.00	EA	Pavement repair ramp 3					
			9/20/23	9/29/23	12.00		Ramp 3 R					
			9/29/23	10/2/23	20.00		West side of bridge by RT B, R side.					
		RELOCATING TEMPORARY TRAFFIC BARRIER	9/22/23	9/29/23	512.50	LF		927+50		935+50		
1370	o205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN.,	9/22/23	9/29/23	670.00 674.00	LF LF		927+50 927+50		933+55 933+55		
1500	6064060	MGS GUARDRAIL	9/21/23		50.00	LF		927+50 926+92	Dt	933+55	Dt	
1000	0001000	MIGG GUARDICALE	31Z 11Z3	9/21/23	87.50	LF		926+92		928+39		
1520	6061069	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	9/21/23	9/21/23	1.00	EA EA		928+39 932+44	Rt	554.09		
1530	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	9/21/23	9/21/23	1.00	EA		926+92				
				9/21/23	1.00	EA		934+39				
1590	2024043	REMOVAL OF MISCELLANEOUS ACM NON-FRIABLE	9/27/23			SQFT		928+28.42		931+99.42		
1630		CURB BLOCKOUT		10/2/23	55.50		End posts and remaining curb block out for the south	928+28.42		931+99.42		
1640	7040404	HALE SOLE DEDAID	0/40/00	10/2/22	E0.00		barrier on Bridge A2406	000+00 40		021+00 40		
1640 1650		HALF-SOLE REPAIR CLEANING AND EPOXY COATING		10/2/23			Bridge A2406	928+28.42 928+28.42		931+99.42 931+99.42		
1000	1040113	OLEANING AND EPOAT COATING		9/29/23			Area around and under the East deck drains on the South side. Around west deck drains on the south side of Bridge	928+28.42		931+99.42		
			9/26/23				A2406. Area around the deck drains on the North side of bridge	928+28.42		931+99.42		
	740	DENVENDANIA STEEL (EDC.:	0/4	4010	40		A2406	000		004		
1670	7101000	REINFORCING STEEL (EPOXY COATED)	9/19/23	10/2/23	480.00	LB	S bars for stage 1 of the concrete replacement for the expansion joint system on Bridge A2406	928+28.42		931+99.42		

The information below this line are details for Construction Signs (if applicable).

The inform	nation below	tnis iine are deta	ils for Construction Signs (if applic	abiej.								
Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
J9P3650	1240	May 16, 2023	76	GO20-2 48x24 8.00 END ROAD WORK	949+55		Left	1.00	8.00			8.00
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE	939+55		Left	1.00	12.00			12.00
				GO20-1 60x24 10.00 ROAD WORK NEXT XX MILES	944+55		Left	1.00	10.00			10.00
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE		257.913	Right	1.00	12.00			12.00
				GO20-1 60x24 10.00 ROAD WORK		257.819	Right	1.00	10.00			10.00

Revision 3/23/2023 Page 11 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

ject	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post													
650	1240	May 16, 2023	76	NEXT XX MILES																					
				CONST-7 48x24 8.00 RATE OUR WORK ZONE		257.725	Right	1.00	8.00			8.0													
				GO20-2 48x24 8.00 END ROAD WORK		257.725	Left	1.00	8.00			8.0													
				CONST-7 48x24 8.00 RATE OUR WORK ZONE	949+55		Right	1.00	8.00			8.0													
		August 28, 2023	316	WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	913+00		RT	1.00	16.00			16.													
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	915+50		RT	1.00	16.00			16.													
						WO20-4 48x48 16.00 ONE LANE ROAD AHEAD	918+50		Rt	1.00	16.00			16.											
										WO3-3 48x48 16.00 SIGNAL AHEAD (SYMBOL)	922+00		Rt	1.00	16.00			16							
													WO1-4R 48x48 16.00 REVERSE CURVE (SYMBOL RIGHT ARROW)	927+50		Lt	1.00	16.00			16				
											WO3-3 48x48 16.00 SIGNAL AHEAD (SYMBOL)	939+35		Lt	1.00	16.00			16						
												WO20-4 48x48 16.00 ONE LANE ROAD AHEAD	942+85		LT	1.00	16.00			16					
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	946+35		RT	1.00	16.00			16													
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	949+85		Lt	1.00	16.00			11													
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	953+35		LT	1.00	16.00			16													
				R10-6 24x36 6.00 STOP HERE ON RED (45 DEGREE ARROW	12+54		Ramp 2 Rt	1.00	6.00			6													
				R10-6 24x36 6.00 STOP HERE ON RED (45 DEGREE ARROW	17+25		Ramp 3 Rt	1.00	6.00			(
				GO20-5aP 36x24 6.00 WORK ZONE (PLAQUE)	920+84		RT	1.00	6.00			(
				R10-6 24x36 6.00 STOP HERE ON RED (45 DEGREE ARROW	925+50		Rt	1.00	6.00			,													
				R10-6 24x36 6.00 STOP HERE ON RED (45 DEGREE ARROW	935+85		Lt	1.00	6.00			(
				GO20-5aP 36x24 6.00 WORK ZONE (PLAQUE)			Lt	1.00	6.00																
													WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	6+75		Ramp 3 Right	1.00	16.00			16				
																	WO3-4 8x48 16.00 BE PREPARED TO STOP	5+50		Ramp 2 Rt	1.00	16.00			16
															WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	2+00		Ramp 2 Right	1.00	16.00			16		
				WO3-3 48x48 16.00 SIGNAL AHEAD (SYMBOL)	13+75		Ramp 3 Right	1.00	16.00			10													
				WO3-4 8x48 16.00 BE PREPARED TO STOP	10+25		Ramp 3 Rt	1.00	16.00			10													
				R2-1 36x48 12.00 SPEED LIMIT XX	940+10		Lt	1.00	12.00			1:													
				R2-1 36x48 12.00 SPEED LIMIT XX	920+84		Rt	1.00	12.00			12													
				WO3-3 48x48 16.00 SIGNAL AHEAD (SYMBOL)	9+04		Ramp 2 Right	1.00	16.00			1													

Revision 3/23/2023 Page 12 of 16



Line Item Adjustments by Estimate

Contract ID: 230120-H01

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
. 10,001	20	2 dod., pub.,	Туре	Adjustment Type	Number	Date	Ву	, unount	
J9P3459	0530	MGS GUARDRAIL	Construction Stockpile STMI		1	May 16, 2023	SYSTEM	\$1,071.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STIVII	- Total				\$1,071.00	
			Construction	n Stockpile ST	ГМI - Total			\$1,071.00	
	0530 -	Total						\$1,071.00	
	0540	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile STMI		1	May 16, 2023	SYSTEM	\$8,800.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		,		- Total				\$8,800.00	
			Construction	n Stockpile ST	TMI - Total			\$8,800.00	
	0540 -	Total						\$8,800.00	
	0550	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile STMI	Total	4	Jun 29, 2023	SYSTEM	\$9,375.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)	0 1 11	- Total				\$9,375.00	
,			Construction	n Stockpile ST	MI - Total			\$9,375.00	
	0550 -	Total						\$9,375.00	
J9P3459 -								\$19,246.00	
J9P3650	1030	AGGREGATE FOR BASE (6 IN.	Material		3	Jun 15, 2023	SYSTEM	\$2,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		THICK)			3	Jun 15, 2023	SYSTEM	(\$2,000.00)	
				4	Jun 29, 2023	SYSTEM	\$15,580.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					4	Jun 29, 2023	SYSTEM	(\$15,580.00)	
					10	Oct 2, 2023	SYSTEM	\$874.12	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					10	Oct 2, 2023	SYSTEM	(\$874.12)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Overrun	Overrun		Oct 2, 2023	SYSTEM	(\$54.00)	
				Overrun - To	otal			(\$54.00)	
			Overrun - To	tal				(\$54.00)	
	1030 -	Total						(\$54.00)	
	1060	MISC.	Material		7	Aug 16, 2023	SYSTEM	\$438,169.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Aug 16, 2023	SYSTEM	(\$438,169.40)	
					8	Sep 5, 2023	SYSTEM	\$670,381.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					8	Sep 5, 2023	SYSTEM	(\$670,381.60)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Overrun	Overrun	10	Oct 2, 2023	SYSTEM	(\$54,752.00)	
				Overrun - To	otal			(\$54,752.00)	
			Overrun - To	tal				(\$54,752.00)	
	1060 -	Total						(\$54,752.00)	
	1260	CHANNELIZER (TRIM LINE)	Material		1	May 16, 2023	SYSTEM	\$300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
									· · · · · · · · · · · · · · · · · · ·



Line Item Adjustments by Estimate

Contract ID: 230120-H01

roject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
P3650	1260	CHANNELIZER (TRIM LINE)	Material	- Total				\$0.00	
		(Material - To	tal				\$0.00	
	1260 -	Total						\$0.00	
	1270	CMS W/O COMMUNICATION INTERFACE,	Material		1	May 16, 2023	SYSTEM	\$10,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user reedv1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
		CONT F/			1	May 16, 2023	SYSTEM	(\$10,400.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	1270 -	Total						\$0.00	
	1500	MGS GUARDRAIL	Construction Stockpile		10	Oct 2, 2023	SYSTEM	(\$981.75)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$981.75)	
			Construction	Stockpile -	Total			(\$981.75)	
			Construction Stockpile		1	May 16, 2023	SYSTEM	\$1,963.50	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$1,963.50	
			Construction	Stockpile S	TMI - Total			\$1,963.50	
	1500 -	Total						\$981.75	
	1510	MGS GUARDRAIL, 8 FT. POSTS, 6	Construction Stockpile		1	May 16, 2023	SYSTEM	\$12,929.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	FT 3 IN				- Total				
			Construction	Stockpile S	TMI - Total			\$12,929.00	
	1510 - T	Total						\$12,929.00	
		MGS BRIDGE (APP. TRANS SEC (REG/NO CURB)	Construction Stockpile		10	Oct 2, 2023	SYSTEM	(\$4,400.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$4,400.00)	
				Construction	Stockpile -	Total			(\$4,400.00)
			Construction Stockpile STMI		1	May 16, 2023	SYSTEM	\$17,600.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			0.1111	- Total				\$17,600.00	
			Construction	Stockpile S	TMI - Total			\$17,600.00	
	1520 -	Total						\$13,200.00	
	1530	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		10	Oct 2, 2023	SYSTEM	(\$3,750.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)		- Total				(\$3,750.00)	
			Construction	Stockpile -				(\$3,750.00)	
			Construction Stockpile STMI		4	Jun 29, 2023	SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$18,750.00	
			Construction	Stockpile S	IMI - Total			\$18,750.00	
		Total					a) (= =	\$15,000.00	
	1630	CURB BLOCKOUT	Material		9	Sep 19, 2023	SYSTEM	\$41,160.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user reedv1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					9	Sep 19, 2023	SYSTEM	(\$41,160.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	1630 -	Total						\$0.00	
	1670	REINFORCING STEEL (EPOXY COATED)	Material		10	Oct 2, 2023	SYSTEM	\$2,880.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user reedv1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
		,			10	Oct 2, 2023	SYSTEM	(\$2,880.00)	·
				- Total				\$0.00	





Line Item Adjustments by Estimate

Contract ID: 230120-H01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3650	1670	REINFORCING STEEL (EPOXY COATED)	Material - Tot	tal				\$0.00	
	1670 -	· Total						\$0.00	
J9P3650	- Total							(\$12,695.25)	
J9S3431	1860	MGS GUARDRAIL	Construction Stockpile STMI		1	May 16, 2023	SYSTEM	\$5,533.50	Payment Estimate Item Adjustment generated Stockpile Transaction
			STIVII	- Total				\$5,533.50	
			Construction	Stockpile S	TMI - Total			\$5,533.50	
	1860 -	· Total						\$5,533.50	
	1870	TYPE A CRASHWORTHY	Stockpile		4	Jun 29, 2023	SYSTEM	\$26,250.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL (MASH)	STMI	- Total				\$26,250.00	
			Construction	Stockpile S	TMI - Total			\$26,250.00	
	1870 -	· Total						\$26,250.00	
J9S3431	- Total							\$31,783.50	
J9S3478	2100	MGS GUARDRAIL, 8 FT. POSTS, 6	Construction Stockpile		1 Ma		SYSTEM	\$1,385.25	Payment Estimate Item Adjustment generated Stockpile Transaction
		FT 3 IN	STMI	- Total				\$1,385.25	
			Construction	Stockpile S	TMI - Total			\$1,385.25	
	2100 -	· Total						\$1,385.25	
	2110	MGS BRIDGE APP. TRANS SEC	Construction Stockpile		1	May 16, 2023	SYSTEM	\$17,600.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		(REG/NO CURB)	STMI	- Total				\$17,600.00	
			Construction	Stockpile S	TMI - Total			\$17,600.00	
	2110 -	· Total						\$17,600.00	
	2120	TYPE A CRASHWORTHY	Construction Stockpile		4	Jun 29, 2023	SYSTEM	\$15,000.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL (MASH)	STMI	- Total				\$15,000.00	
			Construction	Stockpile S	TMI - Total			\$15,000.00	
	2120 -	Total						\$15,000.00	
J9S3478	- Total							\$33,985.25	
Overall -	Total							\$72,319.50	
O VOI UII -	· Jui							\$1 2 ,0 10.00	

MoDOT

Contract Adjustments for Contract - 230120-H01

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 16 of 16